Subject: python bug??
Posted by Dae-Kyu Shin on Thu, 13 Aug 2015 15:18:46 GMT

View Forum Message <> Reply to Message

pro testl
x = dindgen(3)*3
y = dindgen(3)*2
z = dindgen(3, 3)

python.run, 'from scipy import interpolate’
f = python.interpolate.interp2d(x, y, z)

newx = [1,2,3d]

newy = [4, 5, 6d]
print, f(newx, newy)
end

The testl.pro is not working
The error message is

% Compiled module: TEST1.

% Loaded DLM: PYTHONZ27.

% Python: Multiple array subscripts are not allowed.

% Execution halted at: TEST1 12 D:\IDL_package\IDLWorkspace85\Default\testl.pro
% $MAINS

But then code was working when i copy and paste the code in command line.
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